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1. Infective cyst of Entamoebahas 

 A) One nucleus with four chromatids  B) One nucleus with two chromatids 

 C) One nucleus with no chromatids  D) Four nuclei 

2. Trypanosomacausing sleeping sickness belongs to class 

 A) Rhizopoda B) Mastigophora   C) Sporozoa  D) Ciliata 

3. Which type of division takes place in schizogony of Plasmodium? 

 A) Binary fission  B) Multiple fission  C) Sporulation D) Encystment 

4. Special mesodermal tissue which fills the body cavity in tapeworm is 

 A) Botryoidal tissue  B) Parenchyma  

 C) Sclerenchyma  D) Giant mesenchyme cells 

5.  The infective stage of Facoila hepatica is 

 A) Sporocyst  B) Radia    C) Cerearia  D) Metacercaria 

6.  A person suffering from a disease caused by Plasmodium, experiences recurring chill and fever 

at the time when? 

A) The sporozoites released from RBCs are being rapidly killed and broken down inside spleen 

B) The trophozoites reach maximum growth and give out certain toxins  

C) The parasite after its raid multiplication inside RBCs ruptures them and releasing new 

parasites to enter fresh RBCs   

D) The microgametocytes and megagametocytes are being destroyed by the WBCs 

7. For Ascaris which of the following statement is not correct? 

 A) In male the posterior tail end is curved B) Female excretory pore and anus is common 

 C) It is pseudocoelomate    D) Remains attached in intestine of host 

8. In life cycle of Ascaris, the juvenile hatches out of egg in 

 A) Lung B) Liver   C) Intestine  D) None of these 

9. The coelom of Balanoglossusis 

 A) Enterocoelous B) Haemocoelous  C) Schizocoelous  D) Homocoelous 

10. In cephalochordates, the brown funnels situated near pharynx are 

 A) Respiratory B) Excretory  C) Sensory  D) Circulatory 

11. Reflecting pigment cells in luminescent glands contain 

 A) Guanine crystals  B) Adenine crystals C) Cytosine crystals  D) Thymine crystals 

12.  Name the Milk fish 

A) Channastriatus       B) Clariusspp         C) Trout  D) Chanoschanos 

13.  If 6 glucose molecules enter into the glycolysis, how many ATP molecule will be generated at 

substrate level phosphorylation? 

A) 8 ATP  B) 16 ATP  C) 48 ATP  D) 24 ATP 

 



 

14.  Which statement is correct for enzymes? 

(i) Enzymes of Kreb‟s cycle are endoenzymes  

(ii) Apoenzymes are easily separable non protein part of holoenzyme   

(iii) Conversion of glucose-6-phosphate to fructose-6-phosphate is catalyzed by enzyme 

isomerase  

(iv) Theoretically all enzyme catalysed reactions are reversible 

A) (i) and (iii) B) (ii) and (iv) C) (i), (iii) and (iv)  D) (i), (ii) and (iv) 

15. In the electron transport system present in the inner mitochondrial membrane, complexes I and 

IV respectively are 

 A)NADH dehydrogenase and FADH2        B) FADH2 and NADH dehydrogenase 

 C) NADH dehydrogenase and cytochrome c oxidase complex  

D) NADH dehydrogenase and ATP synthase 

16. The inhibitor which is closely similar to the substrate in its molecular structure shows 

 A) feed back inhibition       B) competitive inhibition     

C) non-competitive inhibition      D) allosteric modulation 

17.  In transamination, an amine group is transferred to ______to form a nonessential amino acid 

A) Ketone body   B) Acetyl-CoA             C) Keto acid        D) Carbon dioxide 

18. Non-protein part of an enzyme is known as 

 A) Holoenzyme B) Apoenzyme       C) Coenzyme        D) All of these 

19. Ketosis is caused due to increased blood levels of  

 A) Acetyl CoA    B) Acetoacetate  

 C) β-hydroxy-β-methyl glutarate  D) None of the above 

20. Which of the following has (-0.32) redox  potential (E0) value ? 

 A) Nicotinamide Adenine dinucleotide  B) Ubiquinone 

 C) Acetyl CoA     D) Cytochrome B 

21.  Which of the following reaction of Kreb‟s cycle requires enzyme complex that contains TPP 

and lipoic acid? 

A) Formation of α-ketoglutarate from oxalosuccinate   

B) Oxidative decarboxylation of α-ketoglutorate to succinyl Co-A   

C) Conversion of succinyl Co-A to succinate 

D) Oxidation of succinate to fumarate 

22.  Hexokinase (Glucose+ATPGlucose 6-P+ADP) belongs to the category 

A) Transferases          B) Lyases       C) Oxidoreductases             D) Isomerases 

23.  What happens to the oxidizing agent in an oxidation-reduction reaction?  

A) It is reduced as it loses electrons   B) It is oxidized as it gains electrons 

C) It is oxidized as it loses electrons    D) It is reduced as it gains electrons 

24. Which of the following is not a discrete variable? 

 A) Skin colour    B) Blood pressure    C) Weight   D) Boys in the class 

25.  2, 1, 13, 9, 10, 6, 15, 9, 1, 13, 13 

A) Mean = 7.7, median = 9, mode = 13   B) Mean = 8.4, median = 9, mode = 13 

C) Mean = 8.4, median = 8, mode =13  D) Mean = 7.7, median = 9, mode = 8 

  



 

 

26. Assertion (A): χ2 distribution is a non-parametric distribution 

 Reason(R)     : χ2 is a sample statistic having no corresponding population parameter 

 A) Both (A) and (R) are true and (R) is the correct explanation of (A) 

 B) Both (A) and (R) are true and (R) is not the correct explanation of (A) 

 C) (A) is true, but (R) is false  D) (A) is false, but (R) is true 

27. Which of the following statistical attributes is used to test the null hypothesis in Regression 

 Analysis? 

 A) Mean B) Standard deviation C) t-statistic  D) Chi-square Test  

28. Which one of the following equations are said to be “Line of best fit” 

 A)y=a+bx  B) y=ab
x
  C) y=a+b

x
  D)y=ab 

x
 c 

x2 

29. In pie diagram the data presented by ____ Angle. 

A) 180˚  B) 90˚  C) 360˚  D) 100˚ 

30. Choose the incorrect statement given below? 

A) Mode is not rigidly defined 

B) Mode is very difficult to calculate and understand 

C) It is not affected by extreme values 

D) It is not suitable for algebraic treatment. 

31.  The data recorded according to standard of education like illiterate, primary, secondary, 

graduate, technical etc, will be known as      

A) Qualitative classification   B) Quantitative classification      

C) Chronological classification   D) Geographical classification 

32.     The value of the co-efficient of correlation  r lies between          . 

A) 0 and 1  B) -1 and 0    C) -1 and +1 D) -0.5 and +0.5 

33.  We prefer to present interval data by 

A) Bar chart B) Pie chart C) Histogram D) Pictogram 

34.      Large sample theory is applicable when 

 A) n < 30           B) n > 30     C) n < 100             D) n<1000 

35. The first genetic material could be 

 A) Protein  B) Carbohydrates   C) DNA     D) RNA 

36. Which one(s) is/are correct? 

 i. In prokaryotes single type of RNA polymerase can transcribe mRNA, tRNA and rRNA  

 ii. In eukaryotes RNA polymerase I transcribes rRNA (28S, 18S and 5.8S) whereas RNA pol III 

 is responsible for transcription of tRNA, 5S rRNA and Sn RNAs  

iii. RNA pol II transcribes  hnRNA in eukaryotes  

iv. Ribosomal large subunit has P and A-sites 

 A) i& iii B) All of these C) ii, iii & iv  D) i, ii & iii 

37. Which of the following statements about DNA replication is false? 

 A) Okazaki fragments are the initiators of continuous DNA synthesis along the leading strand 

 B) Replication forks represent areas of active DNA synthesis on the chromosomes 

 C) Error rates for DNA replication are often less than one in every billion base pairings 

 D) Ligases and polymerases function in the vicinity of replication forks 

  



 

38. Secondary lysosomes or digestive vacuoles are formed by  

 A) newly pinched off vesicles from the Golgi apparatus 

 B) fusion of lysosomes and residual bodies 

 C) fuionof  agtophagic vacuoles and lysosomes 

D) fusion of food containing phagosomes with lysosomes  

39. Golgi body arises from 

 A) Plasma membrane B) ER  C) Vacuole  D) Chloroplast 

40. Chemical mutagen 5-bromouracil is a structural analogue of 

 A) Cytosine  B) Thymine  C) Adenine   D) Guanine 

41. Select the correct pair 

 A)BRCAI gene    - Burkitt‟s lymphoma 

 B)Wilms Tumour – I gene  - Breast cancer 

 C)APC gene    - Colon carninoma 

 D)BRCA2 gene   - Cervial cancel 

42.    Smooth endoplasmic reticulum is specialized for the synthesis of lipids and steroids. These 

organelles are found predominantly in  

A) Ovary  B) Pancreas  C) Blood D) Reticular cells 

43. Which of the following cell membrane components serve as recognition signals for interaction 

between cells? 

 A) Recognition proteins  B) Glycolipids or glycoproteins  

 C) Phospholipids   D) Integral proteins 

44. Which of the following part of tRNA is not single stranded? 

 A)AA-blinding   B)DHU loop   C)Anticodon stem     D) TΨC loop 

45. The composition of 50s subunit of prokaryotic ribosome 

 A) 5S rRNA, 28S rRNA, 49 protein  B) 5.8S rRNA, 28S rRNA, 49 protein  

C) 18S rRNA, 16S rRNA, 5S r RNA  D) 5S rRNA, 23S rRNA, 34 protein 

46. Which one of the following cannot be explained on the basis of Mendel‟s Law of Dominance?

 A) The discrete unit controlling a particular character is called a factor 

 B) Out of one pair of factors one is dominant, and the other recessive 

 C) Alleles do not show any blending and both the characters recover as such in F2 generation 

 D) Factors occur in pairs 

47. Haemophilia is mentioned as a trait carried by the mother and passed to her sons. What is the 

 pattern of inheritance for this trait? 

 A) Haemophilia is an allele carried on one of the mother‟s autosomal chromosomes 

 B) Haemophilia is an allele carried on the Y chromosome because more males have this genetic 

 disorder than females 

 C) Haemophilia is an allele carried on the X chromosome and can be directly inherited by the 

 son from the father or the mother 

 D) Haemophilia is carried on the X chromosome and can only be inherited by the son if the 

 mother is a carrier 

48. Linkage reduces the frequency of 

 A) Hybrids     B) All parental types 

 C) Homozygous recessive parents  D) Heterozygous recessive parents  



 

 

 

 

 

 

 

 

49. Match column I with column II and select the correct option 

 Column I   Column II 

 A) Kary Mullis  - i)T4 DNA ligase   

 B)ADA deficiency  - ii) DNA polymerase 

 C) Paul berg   - iii)Monoclonal antibodies 

 D)Hybridoma  - iv)PCR 

 E)Kornberg   - v)SCID 

 F)HarGobind Khorana - vi)Father of genetic Engineering 

 A) A-vi,  B-v, C-iv, D-i, E-iii, F-ii   B) A-iv,  B-iii, C-i, D-ii, E-vi, F-v 

 C) A-ii,  B-v, C-iii, D-iv, E-vi, F-i  D) A-iv,  B-v, C-vi, D-iii, E-ii, F-i 

50. The centimorgan (cM) is a unit named  inhonor of Thomas Hunt Morgan. To what is it equal? 

 A)the physical distance between two linked genes  

B)one nanometer of distance between two genes 

 C)the distance between a pair of homologous chromosomes  

D)1% frequency of recombination  between two genes 

51. ECORI cleaves the DNA at restriction site to form cohesive ends. What is the sequence of  

bases at clipped ends in 3‟        5‟ polarity 

 A) CTTAAG      B) CTTAA   

C) TTAA on one strand AATT in other strand  D) TTAA in both strands 

52. A lawyer tells a male client that blood type cannot be used to his advantage in a paternity suit 

 against the client because the child blood, in fact, be the client‟s, according to blood type. Which 

 of the following is the only possible combination supporting this hypothetical circumstance? 

 (Answers are in the order mother: father: child) 

 A) A : B : O          B) A : O : B       C) AB : A : O  D) B : O : A 

53. Which of the following is not related with bio weapons? 

 A) Bacillus anthracis B) Clostridium botulinum C) E. coli D) Yersinia pestis 

54. A man whose father was colour blind marries a woman who had a colour blind mother and 

 normal father. What percentage of male children of this couple will be colour blind? 

 A) 25% B) 0%  C) 50% D) 75% 

55. Match the following 

  List - I     List - II 

 (Human herediatary condition)     (enzyme last or deficient)  

 a) Alkaptonuria   - 1) -D-N cetylhexosaminidase - A 

 b) Huntington's chorea  - 2) Gultamine acid decarboxylase 

 c) cretinism    - 3) Homogenetic acid oxidase 

 d) Tay-sachs disease   - 4) Iodotyrosine deiodinase 

 

  



 

Codes: a b c d   a b c d 

  A) 3 4 2 1  B) 1 4 2 3   

C) 3 2 4 1  D) 1 2 4 3 

56.      Statement 1: In recombinant DNA technology, human genes are often transferred into bacteria 

 (prokaryotes) or yeast (eukaryote) 

Statement 2: Both bacteria and yeast multiply very fast to form huge population which express      

the desired gene 

A)Statement-1 is True, Statement-2 is True, Statement-2 is a correct explanation for Statement-1 

B)Statement-1 is True, Statement-2 is True, Statement-2 is a not correct explanation for 

Statement-1 

C) Statement-1 is True, Statement-2 is False     D) Both statements are False 

57. Fructose is absorbed into the blood through mucosa cells of intestine by the process called

 A) Active transport  B) Facilitated transport  

 C) Simple diffusion  D) Co-transport mechanism 

58. In lungs there is definite exchange of ions between RBC and plasma. Removal of CO2 from 

 blood involves 

 A) Influx of Cl
-
 ions into RBC B) Influx of HCO3

-
 ions into RBC 

 C) Efflux of Cl
-
 ions into RBC D) Efflux of HCO3

-
 ions into RBC 

59. QRST is related with  

 A) Ventricular contraction or depolarization B) Auricular contraction  

 C) Auricular relaxation    D) Cardiac cycle 

60. 4D syndrome is associated with the deficiency of 

 A) Riboflavin       B) Biotin              C) Tocopherol           D) Niacin 

61. Which one represents pulmonary circulation? 

 A) In auricle (oxygenated blood) – lungs (deoxygenated blood) – Right auricle 

 B) Left auricle (deoxygenated blood) – lungs (oxygenated blood) – Right auricle 

 C) Left auricle (oxygenated blood) – lungs (deoxygenated blood) – Left auricle 

 D) Right auricle (deoxygenated blood) – lungs (oxygenated blood) – Left auricle 

62. Find the incorrect statement regarding mechanism of urine formation in man 

 A) The glomerular filtration rate is about 125 ml per minute  

 B) The ultrafiltration is opposed by the colloidal osmotic pressure of plasma 

 C) The counter current systems contribute in diluting the urine 

 D) Aldosterone induces greater reabsorption of sodium 

63.  Duodenum has characteristic Brunner‟s glands which secrete two hormones called 

 A) Prolactin,Parathormone  B) Estradiol,Progesterone 

 C) Kinase,Estrogen   D) Secretin,Cholecystokinin 

64. In Ornithine cycle, which of the following wastes are removed from the blood? 

 A) CO2 and urea   B) Ammonia and urea  

C) CO2 and ammonia  D) Urea and urine 

65. During contraction of muscles 

 A) Actin filament slide over actin  B) Myosin filament slide over actin  

 C) Actin filament slide over myosin D) Myosin filament slide over actin 

 

 

 



 

66.      A person on a long hunger strike, surviving only on the water will have __. 

           A) More urea in his urine B) Less Urea in his urine 

           C) Less water in his urine D) More glucose& Na
+
 in his blood 

67.      Which of the following is not a part of forebrain? 

A) Rhiencephalon   B) Rhombencephalon  

C) Diencephalon   D) Telencephalon 

68. Which of the following statements is false about cones? 

 i. The daylight vision and colour vision are function of cones   

ii. In human eye, there are three types of cones having characteristic photopigments that respond 

to red, green and blue light  

iii. The sensations of different colours are produced by various combination of these 3 types of 

cones  

iv. When these 3 types of cones are stimulated equally, a sensation of white light is produced 

 A) only iv  B) only i& iv            C) only iii  D) None of these 

69. Afferent nerve fibres carry impulses from 

 A) Effector organs to central nervous system B) Receptors to central nervous system 

 C) Central nervous system to muscles  D) Central nervous system to receptors 

70. When a neuron is at resting potential (-70mV), the net flow of sodium ions is 

 A) Into the neuron     B) Out of the neuron  

 C) Zero because sodium ions do not move across the neuron membrane 

 D) Zero because sodium ions move at an equal rate in both directions 

71. Seminal plasma, the fluid part of semen, is contributed by 

 I. Seminal vesicle II. Prostate III. Urethra IV. Bulbourethral gland 

 A) I and II  B) I, II and IV  C) II, III and IV   D) I and IV 

72. A health disorder that results from the deficiency of thyroxine in adults and characterized by  

(i) a low metabolic rate, (ii) increase in body weight and  

(iii) tendency to retain water in tissues is 

 A) simple goitre B) myxoedema C) cretinism  D) hypothyroidism 

73. Consider the following law/theories 

 1. Biogenetic law 2. Theory of germplasm 3. Theory of epigenesis  

 4. Theory of preformation 

 The correct chronological sequence in which these theories in developmental biology were 

 propounded is 

 A) 4, 3, 1, 2  B) 4, 3, 2, 1  C) 3, 4, 2, 1  D) 3, 4, 2, 1 

74. Acrosomal enzymes in a mammalian sperm originate from 

 A) Peroxysomes B) Lysosomes C) Microsomes D) Mitochondria 

75. Which one of the following sets of organisms develops parthenogenetically? 

 A) Aphids, bees and grasshoppers  B) Bees, wasps and ants 

 C) Ants, Aphids and earthworms  D) Wasps, cockroaches and fish 

76. The correct sequence of appearance of the given structures during the development of CNS in 

 any vertebrate is 

 A) Neural groove, neural plate, neural tube B) Neural plate, neural groove, neural tube 

 C) Neural plate, neural tube, neural groove D) Neural groove, neural tube, neural plate 

77. The process of gastrulation in amphibian embryos starts from the dorsal lip of blastopore by 

 A) Epiboly  B) Involution  C) Evagination D) Delamination 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

78. Which of the following pairs of important characteristics and animals are correctly matched? 

 1. Gray Crescent – Amphioxus 2.Yolk Plug – Frog  3.Hensen‟s node – Chick 

 A) 1, 2 and 3  B) 1 and 2  C) 1 and 3  D) 2 and 3 

79.    Mark the statement that is incorrect for active immunity 

A) It is produced in response to infection or vaccine  B) It has no side effects 

C) It is not long lasting    D) It does not provide immediate immunity 

80. Salk and Sabin polio vaccines are 

 A) Prepared from two different strains of polio virus  

B) Both are attenuated forms of vaccines 

 C) Salk vaccine is attenuated form and sabin vaccine is inactivated form of vaccines 

D) Salk vaccine is inactivated form and sabin vaccine is attenuated form of vaccines 

81. Viral replication within cells is inhibited by 

 A) IL-4  B) IL-1 C) IFNα D) TNFα 

82. Bursa of Fabricius in chicks is found 

 A) Above kidney B) Near liver lobes C) Near cloaca D) Around spleen 

83. Complimentarily determining regions of antibodies signify 

 A) Complement activation   B) Opsonization  

C) Antigen-antibody binding site  D) Antibody synthesis 

84. First encounter of Antigen takes place with which of the following antibody? 

 A) IgG B) IgM C) IgE  D) IgD 

85. To which type of barriers under innate immunity, do the saliva in the mouth and the tears from 

 the eyes, belong? 

 A) Cytokine barriers  B) Cellular barriers  C) Physiological barriers D) Physical barriers 

86.  Match the following 

A, Temporary commensalism    -  1. flagellates living in the body of termites 

B, Permanent commensalism     -  2. lichens (symbiont) 

C, Ecto-commensalism              -  3. hermite crab and sea anemone 

D, Endo-commensalism             -  4. sucker fish and shark 

  A      B      C       D    A B C D 

A)       4      2       3        1   B)    1         2         3        4    

C)       4      3       2      1   D)    1         3         2        4 

87. The pinna and tail of mammals are relatively shorter in the colder region than those of the same 

 species in the warmer region. This refers to 

 A) Allen‟s rule B) Jordan‟s rule C) Bergmann‟s rule       D) Gloger‟s rule 

88. Consider the following statements. In an ecosystem, energy 

 1. Movement is unidirectional 2. Is lost irretrievably 3. Movement is non-cyclic  

 4. Movement is from higher to lower trophic levels 

 Of these statements 

 A) 1, 2 and 3 are correct  B) 1, 2 and 4 are correct  

C) 1, 3 and 4 are correct  D) 2, 3 and 4 are correct 

89. What is the correct sequence of zonation in the lentic environment? 

 1. Profundal zone 2. Littoral zone 3. Sub-littoral zone 

 A) 1, 3, 2  B) 2, 1, 3  C) 2, 3, 1  D) 3, 2, 1 

90. Amount of living material and nutrients present in different trophic levels and soils at any  

given time are called respectively 

  A) Biomass and standing crop.   B) Standing state and standing crop   

  C) Standing state and standing quality  D) Standing crop and standing state 

 



 

91. Which gas does NOT contribute to global warming through its greenhouse effect? 

 A)Nitrous oxide B)Methane C)Carbon dioxide D)Nitric oxide 

92. Which of the following global hotspots of biodiversity has the highest number of enademic 

plants and vertebrates? 

 A)Sundaland        B)Tropical Andes      C)Brazil‟s Atlantic Forest  D)Mesoamerican forests 

93. Which of the following best describes biodiversity? 

 A) The kinds of species in a community 

 B) The diversity of species in an area including their genes, populations and communities 

 C) Populations of organisms that share certain characteristics and can freely breed 

 D) The large numbers of species in tropical countries 

94. Which of the following organisms alive today is likely to be most similar to the first life forms 

 that evolved on the Earth?  

 A) Methane-producing bacteria  B) Cyanobacteria C) Algae D) Dinosaurs 

95. The natural theory of molecular evolution was introduced by 

 A) Haldane  B) Mayer  C) Kimura  D) Crick 

96. Which of the following is an example of the evolution of a fixed-action pattern with finer 

 discrimination among sign stimuli? 

 A) A bluegill sunfish feeing on larger Daphnia when prey are abundant 

 B) A chick pecking at the red spot on a parent‟s moving beak 

 C) A bird recognizing and expelling an egg of a cuckoo from its nest 

 D) A songbird learning its song after listening to a taped song of its species 

97. Central Government of India has brought an act for the conservation of biodiversity, which is 

 known as  

 A) Biological Diversity Act, 1989  B) Biological Diversity Act, 1996  

 C) Biological Diversity Act, 2002  D) Biological Diversity Act, 2009 

98.    Read the following four (A-D) statements: 

i. Natural selection is a process in which heritable variations enabling better survival are enabled 

to reproduce greater number of progeny   

ii. When migration of a section of population to another place and population occurs, gene 

frequencies changes 

iii. If loss of gene migration happens multiple times that would be a gene flow 

iv. If loss of considerable gene from a small population occurs by chance it is called as genetic 

drift  

How many of the above statements are true? 

A) Two  B) One  C) Four  D) Three 

99.    Giraffes have long neck this length will not further increase any more from generations to 

generations this is because of natural selection  

A) Directional   B) Stabilizing   C) Disruptive   D) Centrifugal 

100.    Read the given statements 

i. Theory of pangenesis was given by Lamarck to explain the inheritance of acquired character  

ii. According to Ernst Haeckl, Ontogeny is recapitulation of phylogeny i.e., the development of 

an organism reveals the evolutionary history    

iii. In modern synthetic theory, the unit of evolution is individual  

iv. Weismann‟s theory of germplasm rejected Darwin's theory of pangenesis 

 



 

A) i, ii and v are correct  B) ii & iv are correct  

C) i, iv & v are correct  D) i, ii and iv are correct 

101. Kin selection or „inclusive fitness‟ theory was originally put forward by 

 A) Hamilton  B) RA fisher  C) JBS Haldane  D) Darwin 

102. Consider the following statements  Sibling species exhibit 

 I. Sympatric distribution II. Morphological similarity  

 III. Genetic identity  IV. Reproductive isolation       of these statement 

 A) III alone is correct  B) I and II are correct  

 C) II, III and IV are correct  D) I, II and IV are correct 

103. During which of the following major mass extinction events, over 95% of the marine species 

disappeared from the planed Earth? 

 A)Ordovician B)Devonian  C)Permian  D)Triassic 

104. Consider the following 

 I. Alanine II. Glycine  III. Aspartic acid 

 Which of the above amino acids were produced in Miller‟s experiment to produce organic 

 molecules from the gaseous composition of early/primitive atmosphere of Earth? 

 A) I and II only B) II and III only C) I and III only D) I, II and III 

105. The similarity of bone structure in the forelimbs of many vertebrates is an example of 

 A)homology  B) analogy  C) convertgent evolution   D)adaptive radiation 

106. Among the following sets of examples for divergent evolution, select the incorrect option. 

 A)Forelimbs of man, bat and cheetah    B) Heart of bat, man and cheetah   

C) Brain of  bat, man and cheetah    D) Eye of octopus, bat and man 

107. Races originally inhabiting Europe  N. Africa and India 

 A) Mongaloid B) Negroid  C) Australoid  D) Caucasoid  

108. Choose the incorrect pair 

 A) Musk deer – Kedarnath national park (Uttarkhand)   

 B) Elephant – Periyar National park (Kerala)  

C) Tiger – Sariska National park (Rajasthan) 

  D) Rhinoceros – Kaziranga National park (Assam) 

109. Which one of the following is in-site for in-situ method of conservation of flora? 

 A)Biosphere Reserve     B)Botanical Garden     C)National Park      D)Wildlife Sanctuary  

110. The human fossil discovered from Europe, Asia and parts of Africa, with short stature, heavy 

 brows, retreating foreheads, large jaws with heavy teeth, stocky bodies, a lumbering gait and 

 stopped posture was that of 

 A) Cro-Magnon humans B) Steinheimhumans  C) Neanderthal humans D) Ramapithecus 

 

 

 

 

 

 

 

 

 

 



 

111. Bauxite is extracted from …….. mining. 

 A) Alluvial   B) Open pit   C) Underground   D) Strip 

 ghf;i]l; ……………. Ruq;fKiw %yk; vLf;fg;gLfpwJ 

 A)tz;ly; gphpj;jy; B)jpwe;jntsp C)epyj;jb D) gl;ilfshfvLj;jy; 

112. Hunters of Canada are called 

 A) Pygmies   B) Masai  C) Eskimos   D) Lapps  

 fdlhtpy; fhzg;gLk; Ntl;ilahLgth;fs; 

 A)gpf;kpf;fs;  B)krha;  C) v];fpNkh];  D)yhg;]; 

113. Who was the first Indian to win 5 medals at the World Archery Championships? 
 A) Poonkothai B)Lavleena  C) JothiSureka D) Anshi Mali 

          உலக வில்வித்தை சாம்பியன்ஷிப் பபாட்டியில் 5 பைக்கம்வவன்ற ப௃ைல் இந்ைிய    

          வீராங்கதை? 

 A) பூங்பகாதை    B) லவ்லீைா  

 C)  ப ாைிசுபரகா    D) அன்ஷிமாலிக்  

114. Which disease was recently linked to the “AYUSHMAN BHARAT” scheme? 

 A) Corona   B) Malaria  C) Dengue  D) Black fungus   

 ஆயுஷ்மான் பாரத் ைிட்டத்ைின் கீழ் எந்ை ப ாய் சமீபத்ைில் இதைக்கப்பட்டது? 

 A) வகாராைா   B)மபலாியா            C) வடங்கு  D) கருப்புபூஞ்தச   

115. The material, which is used for making Solar cells 

 A) Copper   B) Silicon  C) Iron  D) Aluminium 

 #hpakpd;fyk; jahhpf;f gad;gLj;jg;gLk; nghUs; 

 A) jhkpuk;  B) rpypf;fd;  C) ,Uk;G  D) mYkpdpak; 

116. The book which describes about the Tamils Society and Economic Conditions was  

 A) Mountain Epigraphy B) Tolkappium C) Sangam Literature  D) indica 

 jkpohpd; rKjhak; kw;Wk; nghUshjhuj;ijg; gw;wpf; $Wk; Ehy; …. 

 A) kiyfy;ntl;L B) njhy;fhg;gpak;  C) rq;f,yf;fpak; D) ,z;bfh 

117. Home Rule league in Bombay was formed by 

 A) Nehru B) Mrs.Annie Besant  C) Tilak D) Bharathiar 

 gk;ghapy; jd;dhl; fofj;ij Njhw;Wtpj;jth; 

 A) NeU B) jpUkjp.md;dpngrd;l; C) jpyfh; D) ghujpahh; 

118. Which one of the following is correct?fPNoj; jug;gl;Ls;stw;wpy; vJ rhpahdJ? 

 A) IUPAC – International Union of Pure and Analytical Chemistry 

 B) ISBN-Indian Standard Book Number 

 C) LAN – Local Arial Network 

 D) UNESCO – United Nations Educational Scientific and Cultural Organisation 

119. Under the Constitution of India, which one of the following  isnot a Fundamental Duty? 

 A) To vote in Public Elections  B) To develop the scientific temper 

 C) To safeguard public property  D) To abide by the Constitution and respect its ideals 

fPNo nfhLf;fg;gl;Ls;sitfspy; ,e;jpa murpayikg;gpd; mbg;gil 
flikfspy; ,tw;wpy; vJtuhJ? 

 A) nghJ Njh;jypy; thf;fspg;gJ  

B) mwptpay; kdg;ghd;ikia tsh;j;jy;  



 

C) nghJ nrhj;Jf;fis ghJfhj;jy;  

D) ,e;jpa murpayikg;gpd; fUj;Jf;fis  vg;nghOJk; kjpj;J elj;jy; 

120. Ordinance must be ratified by the State legislature, with in 

 A) 6 weeks   B) 7 weeks   C) 100 days   D) 150 days  

 mtrurl;lq;fs; ……….f;Fs; khepy  rl;lkd;wq;fspd; Vw;ig ngw Ntz;Lk;. 

 A) 6 thuq;fs;  B) 7 thuq;fs;  C) 100 ehl;fs; D) 150 ehl;fs; 

121. Centre for Policy Research  (CPR) is one of India‟s leading think tanks focusing on public 

policy was established in ……. 

jpl;l Muha;r;rp ikak; ,e;jpahtpd; xU Kd;Ndhb nghJj;jpl;l 

rpe;jidafk; ……….. tUlk; epWtg;gl;lJ 

 A) 2019  B) 2015  C) 1956  D) 1973 

122. „Freedom to learn‟s is the classic work of …….. in which conditions for the promotion of 

learning: empathy, positive regard and genuineness is explained. 

 A) E.L.Thorndike B) Ned Flanders  C) Alfred Binet D) Carl Rogers 

„fw;gjw;fhd Rje;jpuk;‟….. ,thpd; xU cd;djkhd gilg;G> ,jdpy; 
fw;wYf;fhd cah;T epiyfshd: gr;rhjhgk;> kjpg;G kw;Wk; cz;ikj; 
jd;ik tpsf;fg;gl;Ls;sJ. 

 A) E.L. jhh;z;ilf; B)nel;g;shz;fh;];  C)My;gh;l;gpNd  D)fhh;y;Nuhfh;]; 

123. …………. theory advocates that understanding the map making rather than holding up 

Stimulus-Response (S-R) connections. 

 A) Guthires contiguity    B) Tolman sign   

C) Hulls systematic behaviour    D) Lewins field 

………….. Nfhl;ghlhdJ Jhz;ly;-Jyq;fy; (S-R)  ,iaGfis 
cUthf;Ftij fhl;bYk; Ghpjy; kw;Wk; cUtikT Nkw;nfhs;siy 
Kd;dpiyg;Lj;Jk; 

A) Fijahpd; mz;ik   B)lhy;nkd; FwpaPL  

C) `y;]pd; Kiwahd elj;ij  D) yPtpd;fsf; Nfhl;ghL 

124. The book „Talks to Teachers‟ was written by: 

 A) James Drever B) Swami Vivekananda  C) J.B.Vatson D) William James 

„Talks to Teachers‟ vd;w Gj;jfj;ij vOjpath; 

A) n[k;];ilth;   B) Rthkp tpNtfhde;jh 

C)J.B.thl;rd;   D)tpy;ypak;n[k;]; 

125. Care for Pets‟ is a ……….. method of adjustment 

 A) Regression B) Sublimation C) Withdrawal D) Avoidance  

Nry;yg; gpuhzpfisg; guhkhpg;gJ vd;gJ………… ,zf;fKiwahFk;. 

A) gpd;Ndhf;f B) kilkhw;w C) gpd;thq;Fjy;   D) tpyf;Fjy; 

126. Benjamin Bloom of the University of Chicago and a group  of colleagues and associates 

developed the classification of educational objectives in the years……….. 

 
 
 
 
 



 
rpf;fhNfh gy;fiyf;fofj;ij rhh;e;j nghd;Q;rkpd;G@k;. 
,izgzpGhpNthh; kw;Wk; rfhf;fs; Nrh;j;J fy;tpapay; Nehf;fq;fSf;fhd 

tifg;ghl;bid Jtf;fpa Mz;L…………. 

 A) 1972  B) 1964  C) 1996  D) 1956 

127. In WAIS test, under the performance scale subtests …….. is a version of the familiar  code 

substitution test which has often been included in the non-language intelligence scales. 

 A) Block design B) Picture arrangement C) Digit symbol D) Picture completion 

WAIS Njh;tpd;> nray;jpwd; msTNfhypd; cg Njh;Tfspy; …………tifj; 
Njh;thdJ FwpaPL khw;wj; Njh;thFk; ,jid> nghJthf nkhop my;yh 
Ez;zwpT msTNfhy;fSld; Nrh;f;fyhk;. 

 A) njhFjp tbtikg;G   B) gl xOq;fikg;G  

C) vz;zpyf;f FwpaPL   D)glk; epiwTnra;jy; 

128. When a student learn to link „cat‟ with „dog‟ more easily than „cat‟ with „inch‟ or „cat‟ with 

„buckle‟, then it is an example of ……… 

 A) Synchronous learning    B) Motivated learning   

C) Paired – associate learning   D) Physical learning 

„G+id‟ vd;gjid „mq;Fyk;‟ kw;Wk; „G+id‟ vd;gjid „nfhf;fp‟ 

vd;gjNdhL ,izj;jwptjid tplTk; „G+id‟ vd;gjid „eha;‟ 

vd;gNjhL kpf vspjhf xU khztuhy; ,izj;Jf; fw;f KbtJ…… d; 
vLj;Jf;fhl;lhFk; 

A) xj;jepfo;Tf; fw;wy;   B) Cf;Ftpg;Gf; fw;wy;  

C) ,iz-,izGf; fw;wy;              D) ,aw;gpaf;fw;wy; 

129. The learner is destined to imbibe typical characteristics of his / her individual character. This 

stage of affective domain is ……… 

 A) Valuing  B) Characterization by a value  C) organization  D) Receiving 

fw;gth; mtuJ elj;ijapy; Fwpg;gpl;l tif gz;gpay;Gfis cs;sPh;j;Jf; 

nfhs;s Kidg;Gld; nray;gLthh;. czh;T rhh;Gydpd; ,e;j epiy………. 

A) kjpg;Gzh;jy;   B) tpOkpak; rhh;e;j gz;gpay;ghf;fk; 

C) xUq;fikj;jy;  D) cl;ngWjy; 

130. In this learning the subject has less freedom in recall, the subject is expected to recall the words 

in the order in which they are presented? 

 A) Serial Learning    B) Paired-associate learning   

C) Immediate free recall  D) Disassociated learning  

,t;tiff; fw;wypy;>fw;gtUf;F kPl;lwpjYf;fhd Rje;jpuk; FiwthdJ. 
fw;gth; thh;j;ijfismJ toq;fg;gl;l thpirapd; mbg;gilapNyNa 
kPl;lwpa vjph;ghh;f;fg;gLfpwhh;. 

 A) njhlh;epiyf;fw;wy;    B) ,iz-njhlh;Gf;fw;wy;  

C) cld;epiy epidT$h;jy;             D)me;epa njhlh;Gf;fw;wy; 

131. The necessary entering behaviour is the availability to the organism of particular responses, this 

is ……….. 

 A) Instrumental learning   B) Problem-solving ability  

C) Classical conditioning   D) Teaching skill 

Njitahd cs;sPl;L elj;ijvd;gJ caphpapd; Fwpg;gpl;l Jyq;fy;fspd; 

fpilj;jw; jd;ikahFk;> ,J ……. MFk; 

  



 

A)fUtprhh; Mw;wy;   B) rpf;fy; jPH;j;jy; jpwd;  

C)Mf;fepiyapWj;jk;   D) fw;gpj;jy; jpwd; 

132. …………… principle states that “what was being done in the past in the presence of a set of  

stimuli will tend to be done next when the stimulus combination occurs”. 

 A) Extinction  B) Association C) Dark „Ghetto‟  D) Recency 

…………. Nfhl;ghlhdJ ,t;thW Fwpg;gpLfpwJ. “fle;jfhyj;jpdpy; xU 
Jhz;ly; njhFg;gpd; Kd;dpiyapy; vd;d Nkw;nfhs;sg;gl;lNjh mNj 
tpisthdJ Jhz;ly; xUikg;ghl;bd; NghJ epfOk;. 

A)mw;nwhopif B)njhlh;G  C),Uz;l„nfl;Nlh‟ D)mz;ik 

133. Which one of the following is not a mode of use in computer aided instruction? 

 A) Problem solving   B) Test agenda  C) Author mode  D) Drill and Practice 

gpd;tUtdtw;Ws; ve;j xU nray; tifahdJ fzpdp cjtpNahL 
fw;gpj;jy; gad;Kiw my;y? 

 A) rpf;fy; jPH;j;jy;   B) Njh;Tepuy;  

C) Mrphpah; ghq;F             D) njhlh;nray;ghL kw;wk; gapw;rp 

134. The linguist ……. Opined that language has strong biological basis, with children biologically  

prepared to learn language at a certain time and in a certain way. 

 A) Noam Chomsky  B) Lev Vygotsky C) Maria Montessori D) Jean Piaget 

nkhopahsuhd ,thpd; fUj;Jg;gb nkhop caphpapd; Mjhuk; vdTk;> 
Foe;ijfs; nkhopapid fw;f xU Fwpg;gpl;l fhyj;jpy;> Fwpg;gpl;l 
topKiwfspy; caphprhh;Gj; jd;ikNahL jahuhfptpLfpd;wdh; vd;w jkJ 
fUj;jpid njhptpj;jhh; 

A)eNthk;Nrhk;];fp B)nyt;itfhl;];fp C)khpahkhz;bNrhhp D)[Pd;gpahN[ 

135. ……………. theory  has made learning an intelligent task requiring mental abilities instead of 

mind fumbling and automatic responses to specific stimuli 

 A) Classical conditioning    B) Operant conditioning  

C) Field theory of learning    D) Insightfull learning 

Nfhl;ghlhdJ fw;wiy Fwpg;gpl;l Jhz;lYf;fhd tpsf;fepiy kw;Wk; 
jd;dpaf;f Jyq;fy; my;yh jkdj;jpwd;fs; rhh;e;j xU Ez;zwpT 
nray;ghlhf fUj;J Jiw nra;Js;sJ 

A)Mf;f epiyapWj;jk;   B) fUtprhh; Mf;fepiyapWj;jk;  

C) fw;wypd;fsf; Nfhl;ghL             D) cs;fhl;rpf;fw;wy; 

136. …………. Acts as consciousness switch, turning consciousness on or off by sending suitable 

signals to those brain parts involved in conscious processes. 

 A) Zone of Proximal Development (ZPD)  B) Reticular Activating System (RAS)

 C) Consciousness Development System (CDS)  D) Deoxyribo Nucleic Acid (DNA)  

….. MdJ jdTkdnghj;jhdhf nray;gLfpwJ. jdT kdj;jpid 
nray;glitf;fTk; nray;glhJ nra;aTk; jdTr; nray;ghLfis 
Nkw;nfhs;Sk; %isapd; gFjpfSf;F jFe;j FwpaPLfis ,it 
mDg;GfpwJ. 

 A)Nkk;gl;l tsh;r;rp kz;lyk;  B) Ez;tiya nray;ghl;L mikg;G 

 C) czh;Tepiy Nkk;ghl;L mikg;G  D)b.Mf;rpiuNghepAf;spf; mkpyk; 

137. ……….. Philosophy of education considers education as a spiritual need. 

 A) Idealism   B) Naturalism  C) Pragmatism  D) Realism  

 



 
fy;tpj;jj;Jtk; ,iwAzh;Tj; NjitapidNafy;tpapd; Nehf;fkhff; 
fUJfpwJ 

 A) fUj;jpay;   B) ,aw;ifjj;Jtk;  

C) gadsit   D)  ajhh;j;jf;nfhs;if 

138. ………… is a rational problem solving method of analyzing the educational process and making 

it more effective?  

 A) Brainstorming    B) Gagne‟s hierarchy of learning   

C) Instructional designing   D) Systems approach 

………. MdJ fy;tpapay; nray;epiyfis gFg;gha;T nra;Ak; kw;Wk; 
mjid jpwk;gLj;Jk; fhuz tpkh;rdrpf;fy; jPh;j;jy; KiwahFk;. 

A) mwptpayhf;fk;   B) fhf;Ndapd; fw;wy; gbepiy 

C) fw;gpj;jy; tbtikg;G  D) jpl;lmZFKiw 

139. „Unity of substance, origin and purpose‟ is a threefold idea of unity put forth by  

 A) Froebel    B) Swami DayandSaraswathi  

C) Swami Vivekananda   D) J.J.Rousseau 

„nghUs;> Njhw;wk; kw;Wk; Nehf;fk; ,itfspd; xUikg;ghL‟ ,it 
xUikg;ghl;bd; Kk;Kidrpe;jid> ,f;fUj;ijf; $wpath; 

 A) /g;Nuhngy;    B) Rthkp jahde;jru];tjp  

C)Rthkp tpNtfhde;jh  D) J.J.&Nrh 

140. ……… refers to information available to students that makes possible the comparison of actual 

performance with some standard of performance. 

 A) Criticism  B) Reinforcement   C) Feedback    D) Communication 

………….MdJ khzth;fSf;F fpilf;fg;ngWk; jfty;fis mjd; 
epiyahd nray;jpwdpd; epfo; nray;jpwdpid xg;gPL nra;jwptjpid 
Fwpf;fpwJ 

 A) jpwdha;T B) tYT+l;lk; C) gpd;Dhl;lk; D) njhlh;G 

141. The Third All India Educational Survey was undertaken in the year ………… 

%d;whk; mfpy ,e;jpa fy;tp fzf;nfLg;G…….. Mz;L 
Nkw;nfhs;sg;gl;lJ? 

 A) 1978  B) 1973  C) 1965 D) 1984 

142. Project report on the „Cost of Education‟ was prepared by …………… 

 „fy;tpf;fhd nryT‟ vd;w jpl;l mwpf;ifapid jahh; nra;jJ….. 

 A) UNESCO  B) NCERT  C) NCTE D) World Bank 

143. Imaginative Stories‟ is a test in which ……… is given 

 A) Non-verbal task     B) Verbal task using non-verbal stimuli  

C) Verbal task using verbal stimuli D) Filling in gaps 

„fw;gid fijfs;‟………….. y; nfhLf;fg;gl;l xU Nrhjid MFk; 

 A) tha;nkhop my;yh Nrhjid  

B)   tha;nkhop my;yh Jhz;liy gd;gLj;Jk; tha;nkhop Nrhjid  

C) tha;nkhop Jhz;liy gad;gLj;Jk; tha;nkhop Nrhjid  

D) ,ilntspia epug;Gjy; 

144. „Regaining Excellence in Education‟ and „What‟s Best for Children‟ are the works of 

……….., who concentrated on alternatives in public school system. 

  



 

A) Paul Goodman   B) Sri Aurobindo  

C) Mario D.Fantini   D) Sri DayanandSaraswathi 

„fy;tpapy; Nkd;ikia kPl;gpg;gJ‟kw;Wk; „Foe;ijfSf;F rpwe;jJ vJ‟ 

vd;git……. vd;ghuJ gilg;GfshFk;. ,th; nghJg; gs;spkhw;W mikg;G 
Kiwfspy; ftdk; nrYj;jpath;. 

 A) ghy;Fl;nkd;   B) =mutpe;jh;  

C) khpNahD.ghd;bdp  D) =jahde;jru];tjp 

145. The objectives of ……… are the development of abilities and values such as the spirit of 

enquiry, creativity, objectivity and aesthetic sensitivity. 

 A) Value education    B) Work experience   

C) Sports  and Physical education  D) Science education 

……….. Nehf;fq;fshf fUjg;gLtJ >tpdty;Mty;> Mf;fj;jpwd;> 
Gwtaj;jd;ik kw;Wk; moFzh;T Gyd;jd;ik ,itfs; rhh;e;j jpwd;fs; 
kw;Wk; tpOkq;fspd; Nkk;ghlhFk;. 

 A) tpOkf; fy;tp     B) gzp mDgtk;  

C) tpisahl;L kw;Wk; clw;fy;tp D) mwptpay; fy;tp 

146. Delinquency is ……….. 

 A) Inherited character   B) Learned reaction  

C) Autonomous process    D) Reflex action 

 newpgpwo; vd;gJ 

 A) kuGtop Fzeyd;    B) fw;wy; vjph;tpid  

C) jd;dpr;irahd nray;Kiw  D) vjph;tpid 

147. In the Operant Conditioning theory …… means that other stimuli similar to the one used in 

training may take on the power to produce the response. 

 A) Extinction  B) Discrimination C) Stimulus Generalization D) Orientation 

nray;ghL Mf;fepiyapWj;jf; Nfhl;ghl;by; …….. MdJ kw;wJhz;ly;fs;     
gapw;rpapd; NghJ gad;gLj;jg;gl;l Jhz;ly;fisg; Nghd;W Jyq;fy;fis 
cUthf;Fk; jpwid vLj;Jf; nfhs;fpwJ vd;gjid nghUl;gLj;JfpwJ. 
A) KbTw;wepiy     B) NtWgLj;Jjy;  

C) Jhz;ly; nghJikg;ghL   D) Nehf;Filik 

148. …………….  may be defined as thinking reflectively and productively and evaluating the 

evidence; it enables to grasp deeper meaning of ideas, keep an open mind about different 

approaches and perspectives. 

 A) Critical thinking  B) Divergent thinking  C) Abstract thinking  D) Lateral thinking 

,izkPs;epiyr; rpe;jidkw;Wk; Mf;fg;G+h;tkhdNkYk; Mjhuj;jpid 
kjpg;gplf;$ba rpe;jid Kiw vd tiuaiw nra;ayhk;. 
,r;rpe;jidahdJ vz;zf;fUj;Jf;fspd; Mokhd nghUs; NkYk; 
gy;NtW mZFKiwfs; kw;Wk; fUj;Jf;fisr; rhh;e;j ntspg;gilahd 
kdNehf;F ,itfisFwpf;Fk;. 

 A)ca;aepiy rpe;jid  B)tphp rpe;jid  

C)fUj;jpay; rpe;jid   D)gf;fthl;L rpe;jid 

149. ………….. survey asks teachers and school leaders about working conditions and learning 

environments at their schools to help countries face diverse challenges. 

 



 
fUj;jha;thdJ Mrphpah;fs; kw;Wk; gs;sp eph;thfpfsplk; mth;fs; 
gs;spfspd; gzp epiyikfs; kw;Wk; fw;wy; #oy;fs; gw;wp gyjug;gl;l 
rthy;fis re;jpf;Fk; ehLfSf;F cjt Nfl;lwpfpd;wJ 

 A) UNESCO –UIS  B) TALIS    C) ISES-NCERT  D) STEPP 

150. Woodworth suggests that, when an attitude is inactive it may be called as ….. 

 A) distraction  B) inattention  C) disposition D) disinterest 

kdg;Nghf;F nrayw;w epiyapy; ,Uf;Fk; NghJ mjid……. ,t;thwhf 
miof;fyhk; vd cl;nthh;j; ghpe;Jiuj;jhh;. 

A)ftdr;rpjwy; B) ftdkpd;ik C) khWgl;lNghf;F D)Mh;tkpd;ik 

All the Best 

 


